
SLIDING DOOR
ON WHEELS

MACHINE GUARDING

88754549 ver. 007 PROTECTING PEOPLE, PROPERTY, AND PROCESSES.  |  troax.com

ASSEMBLY INSTRUCTION
– JUST FOLLOW ME

KIT 36907190

1/6

INTERACTIVE
ASSEMBLY

INSTRUCTION

3D



www.troax.comKit 36907190

Kit Sliding door on wheels 36907190

Ø10 22 mm 5 mm13 10

A
rt

 n
o

: 8
87

54
54

9 
ve

r. 
00

7

Bag for kit 7190-88697190

x2
M8x70

x12
M8x35

x4
M8x50

x4
M8x12

x9
M8x55

x16
M6x100

x12
M8x55

x2
M6

x2
M8

x16 x37
M6 M8

Kit Bracket SmF 36700074

x4 x2 x2 x1
M8x28 60x40 ST20/30 60x40

Kit Bracket Strong Fix 36700098

x2 x4 x2 x1
80x80 M8x16 ST20/30 80x80

Kit Sliding door on wheels 36907190 

x2 x4 x2 x2 x2x1

x8x1 x2

118,5x30x3 80x80 100 mm 40x20118,5x125x3

62 mm 25 mm

Troax sign 89200000

x1

60x40

80x80

2/6



www.troax.com Kit 36907190

Kit Bracket Strong Fix

Kit Sliding door on wheels +     Bag for kit

A
rt no

: 88754549 ver. 007

80x80 M8x16 ST20/30 80x80

2 3

6 7 8 9

M6 M6x100

4 5

3/6

1



Kit 36907190 www.troax.com

A
rt

 n
o

: 8
87

54
54

9 
ve

r. 
00

7

2000 mm	 1000	 1000				    2000

2400 mm	 1200	 1200				    2400

3000 mm	 1500	 1500				    3000

3200 mm	 1000	 1000	 1200			   2000	 +	 1200 (2400)

3400 mm	 1200	 1200	 1000			   2400	 +	 1000 (2000)

3500 mm	 1000	 1000	 1500			   2000	 +	 1500 (3000)

3900 mm	 1200	 1200	 1500			   2400	 +	 1500 (3000)

4000 mm	 1000	 1000	 1000	 1000		 2000	 +	 2000

4200 mm	 1500	 1500	 1200			   3000	 +	 1200 (2400)

4400 mm	 1000	 1000	 1200	 1200		 2000	 +	 2400

4800 mm	 1200	 1200	 1200	 1200		 2400	 +	 2400

5000 mm	 1000	 1000	 1500	 1500		 2000	 +	 3000

5400 mm	 1200	 1200	 1500	 1500		 2400	 +	 3000

6000 mm	 1500	 1500	 1500	 1500		 3000	 +	 3000

1100

1500

2100

2300

2500

2600

3000

3100

3300

3500

3900

4100

4500

5100

Kit Sliding door on wheels + Bag for kit
+ Kit Bracket Strong Fix / Kit Bracket SmF

10

13b 14 15 16

11 12

M8x35 M8M8x12 60x4080x80118,5x30x3118,5x125x3 62 mm

A

A  +  B  +  C  +  D = + + +

B C D

60x40

Safe
Lock ES

80x80

4/6

13a



www.troax.com Kit 36907190 5/6

A
rt no

: 88754549 ver. 007

Bag for kit Bag for kit

Bag for kit
+ Kit Sliding
door on wheels

M8x55
M8 M8

40x20

M8x55

M8x50

M8

Bag for kit

M8M8x55

21

10 Ø

125 mm

17

19

20

A
B

C

18

65
65



Bag for kit + Kit Sliding door on wheels

26 27 28

M6 M6x100

22 23 24

Bag for kit + Kit Sliding door on wheels Bag for kit

M8x70 M8 25 mm 100 mm

M6

M8M8x35

25

29

30 31

A
rt

 n
o

: 8
87

54
54

9 
ve

r. 
00

7

Kit 36907190 www.troax.com6/6

Troax sign


